& doubtnut

India's Number 1 Education App

MATHS

BOOKS - JBD PUBLICATION

MODEL PAPER (5)

Exericse

1. If A and B are two non-empty sets, then

(A — B)U (B — A)is equal to:


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QkJcsly1CNgd

A.(AUB) - B
B.A— (ANB)
C.(AUuB)—-(ANB)

D.(AN B) U (AU B)

Answer:

° Watch Video Solution

2. The domain of the

2
42z 41
fla) = 22T e,

2 — 1 — 6

function


https://dl.doubtnut.com/l/_QkJcsly1CNgd
https://dl.doubtnut.com/l/_pVpDMU3flXGr

A.R — {3, 2}
B.R— {3, —2}
CR—{-3, —2}

D.R — {2, 3}

Answer:

o Watch Video Solution

3. The value of cos 75° is:

V3 +1
2v/2

A.



https://dl.doubtnut.com/l/_pVpDMU3flXGr
https://dl.doubtnut.com/l/_EVI7Vt9ZscWk

Answer:

o Watch Video Solution

4.The value of (1 +9)* + (1 — @)% is:

A.8

B.4


https://dl.doubtnut.com/l/_EVI7Vt9ZscWk
https://dl.doubtnut.com/l/_RNoONaeIgEcW

C.-8

D. none of these

Answer:

° Watch Video Solution

5. The number of arrangements of the letters

of the word 'BHARAT' taken all at a time is:

A.360

B. 120


https://dl.doubtnut.com/l/_RNoONaeIgEcW
https://dl.doubtnut.com/l/_ApzgdsgZvJ0U

C. 260

D. none of these

Answer:

° Watch Video Solution

6. If the sum of n terms of an AP. is given by
5, = 3n + 2n?, then the common difference

of an AP.is

A 4


https://dl.doubtnut.com/l/_ApzgdsgZvJ0U
https://dl.doubtnut.com/l/_hphW4FCvryB2

B.3

C.2

D. none of these

Answer:

o Watch Video Solution

7. The line segment joining the points (-3,-4)

and (1,-2) is divided by y-axis in the ratio:

A 1:3


https://dl.doubtnut.com/l/_hphW4FCvryB2
https://dl.doubtnut.com/l/_P2scOIB20z0D

B.3:2

C.3:1

D. none of these

Answer:

o Watch Video Solution

8. If the major axis of an ellipse is thrice the

minor axis, then its eccentricity is equal to

Al
3


https://dl.doubtnut.com/l/_P2scOIB20z0D
https://dl.doubtnut.com/l/_LV2MqQIEDUSC

1
B. —
V3
1
C.—
V2
2¢/2
&5

Answer:

o Watch Video Solution

. sin 2x |

9. lim is equal to:
z—0 L
A 2

5 1
2


https://dl.doubtnut.com/l/_LV2MqQIEDUSC
https://dl.doubtnut.com/l/_WfyuOFMEf4ZK

C.1

D. none of these

Answer:

° Watch Video Solution

10. Two dice are thrown simultaneously. The

probability of obtainng a total score of 5 is,

Ol ©|


https://dl.doubtnut.com/l/_WfyuOFMEf4ZK
https://dl.doubtnut.com/l/_V0jNFPD64AF2

c 2
9

D. none of these

Answer:

° Watch Video Solution

1. If cos(f + 2a) = mcosf, prove that

1+m
1—m

cot a = tan(0 + a).

o Watch Video Solution



https://dl.doubtnut.com/l/_V0jNFPD64AF2
https://dl.doubtnut.com/l/_3iXEudYPyjHW

12 Ift(—i—)—20t 0—3
. an(x + y = 577 an|lx — vy =7
then show thattan 2z = %

o Watch Video Solution

13. simplify: 53° + 43 + 3i° + 26% 44

o Watch Video Solution

2 T

5
14.E d|{—— —=
xapan (:c 2) ,x # 0

I o Watch Video Solution


https://dl.doubtnut.com/l/_Ax3lgPMpAp2b
https://dl.doubtnut.com/l/_YNtgfdslJtye
https://dl.doubtnut.com/l/_YM5bkSbxBNwb

15. Find

4

3
3rd term in the expansion of (3:13 — %) :

o Watch Video Solution

16. Show that A(a,b,c),B(b,c,a) and C(c,a,b) are

the vertices of an equilateral triangle.

° Watch Video Solution



https://dl.doubtnut.com/l/_YM5bkSbxBNwb
https://dl.doubtnut.com/l/_n00jshW7MmXY
https://dl.doubtnut.com/l/_j6jnyQNelWdG

17. Write down the truth value of the following
statement:

All integers are natural numbers.

o Watch Video Solution

18. Write down the truth value of the following
statement:

Violet are blue.

o Watch Video Solution



https://dl.doubtnut.com/l/_ry6pvQgl4iM0
https://dl.doubtnut.com/l/_UV3zW2f69dkj
https://dl.doubtnut.com/l/_DDZxa2Z0i34m

19. Which of the following statements are true
and which are false?

In each case give a valid reason for your
answer.

p: Each radius of a circle is a chord of the

circle.

o Watch Video Solution

20. In a group of students, 100 students know

Hindi, 50 know English and 25 know both. Each


https://dl.doubtnut.com/l/_DDZxa2Z0i34m
https://dl.doubtnut.com/l/_hvNghiRNvjAc

of the students knows either Hindi or English.

How many students are there in the group?

° Watch Video Solution

21. If A={3,5},B={2,4,6}. Find

n(A x B)

o Watch Video Solution

22. If A={3,5},B=(2,4,6}. Find

n(B x A)


https://dl.doubtnut.com/l/_hvNghiRNvjAc
https://dl.doubtnut.com/l/_If8G7NDhaWdr
https://dl.doubtnut.com/l/_41Le3EcPAzEP

° Watch Video Solution

23. Prove that:
) ) ) . €T 3x
sin3x + sin2x — sinx = 4sinx cos Ecos >

o Watch Video Solution

24. Using principle of mathematical induction,
prove that:

1+3+5+........... +(2n-1)=n".

o Watch Video Solution



https://dl.doubtnut.com/l/_41Le3EcPAzEP
https://dl.doubtnut.com/l/_60EcsFPqnlJV
https://dl.doubtnut.com/l/_pBxWPwa6PzeS

25. A bag contains 5 black and 6 red balls.
Determine the number of ways in which 2

black and 3 red balls can be selected.

o Watch Video Solution

26.Find the value of rif 5.4 P, = 6.°P,. 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_pBxWPwa6PzeS
https://dl.doubtnut.com/l/_LWqmJf709fDo
https://dl.doubtnut.com/l/_fj3bjTIWzZw5

27. If the sum of n terms of an AP is

1
nP—I—En(n—l)Q, where P and Q are

constant, find the common difference.

o Watch Video Solution

28. If the pth, qth and rth terms of an AP. be

XY,z repsectively, then show that

z(q—17)+ylr—p) +z2(p—q) =0

o Watch Video Solution



https://dl.doubtnut.com/l/_aDkqiONMiTji
https://dl.doubtnut.com/l/_Ybi0xvWWLbqw
https://dl.doubtnut.com/l/_wxfyKhR7MhIY

29. Find a point on the x-axis which is

equidistant from the points (7, 6) and (3, 4).

° Watch Video Solution

30. Find the equation of ellipse that satisfy the
given conditions:

Length of minor axis: 16, foci=(0, + 6)

° Watch Video Solution



https://dl.doubtnut.com/l/_wxfyKhR7MhIY
https://dl.doubtnut.com/l/_U9PaCn7uSHWw

1
31. Find the derivative of —
T

o Watch Video Solution

32. Find lim f(x), where
z—0
Ed
flo) =3 = 270
0 z =0

o Watch Video Solution

33. One card is drawn from a well shuffled deck

of 52 cards. If each outcome is equally likely,


https://dl.doubtnut.com/l/_1JEeHUjzLl9I
https://dl.doubtnut.com/l/_Fte4E4nlmldx
https://dl.doubtnut.com/l/_ywAQVrB2mG3E

calculate the probability that card drawn is :
i) not an ace

ii) a black card

i) not a black card

iv) a diamond

v) not a diamond.

o Watch Video Solution

34.0One card is drawn from a well shuffled deck
of 52 cards. If each outcome is equally likely,

calculate the probability that card drawn is :


https://dl.doubtnut.com/l/_ywAQVrB2mG3E
https://dl.doubtnut.com/l/_EkLBHa1KGEt8

i) not an ace

ii) a black card

i) not a black card
iv) a diamond

v) not a diamond.

° Watch Video Solution

35. One card is drawn from a well shuffied deck
of 52 cards. If each outcome is equally likely,
calculate the probability that card drawn is :

i) not an ace


https://dl.doubtnut.com/l/_EkLBHa1KGEt8
https://dl.doubtnut.com/l/_4yS0LYZXaJKF

ii) a black card
i) not a black card
iv) a diamond

v) not a diamond.

° Watch Video Solution

36. If z=x+iy and |z|=1, show that the complex

z—1
number z; = > 1 is purely imagine.

o Watch Video Solution



https://dl.doubtnut.com/l/_4yS0LYZXaJKF
https://dl.doubtnut.com/l/_DyA4iyFjc48S

37. Solve the following system of inequalities

graphically: 3z + 2y < 12,z > 1,y > 2

° Watch Video Solution

38. Find all pairs of consecutive odd natural
numbers, both of which are larger than 10,

such that their sum is less than 40.

° Watch Video Solution



https://dl.doubtnut.com/l/_IP2y0p9Ve5E2
https://dl.doubtnut.com/l/_UcK7g23AdeR7

mz?+n z <0
30. If f(x)= nc+m 0<x <1 For what

ned+m x> 1

integers m and n does both limO f(x) and
T —

lim f(x) exist

r—1

o Watch Video Solution

) o secx — 1
40. Find the derivative of

secr + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_tjCnicD413fL
https://dl.doubtnut.com/l/_XyuT9T7TyUtr

41. Find the mean deviatioan about the mean

for the following data:

70 [ 90
16| 8

o Watch Video Solution



https://dl.doubtnut.com/l/_Yix81SBVsByy

